#13@E EVEY—F SNeAE (HHKRRA)

o EBY—7—=00—2) @

FALIAHA ~ ]:202542828H

SIE (FRIHELAH) Bils SVE] SMEUASIZHSE SR, — R E
AN 1,500/ BAANE | ZI5I2%8 | |EASVEERR—vas as0BALE
-2 E | 500M 20% LI E 100 HOMIEIZOVNTDOHETAL, B
XhE R L 50% LLE 200 BELET,

A UN M x A= A

i I Ax A= M |[Bast m

EXFER A= 4 4l
& |EE:
2 5 B
=FI1T -
. L bk
REEES 2 £Ma—X (km)
S B/ %| 298 (1) |BMEL- 10 20 - 30
=1 (308 (H)|&m#iL - 5- 10 - 20
2 O 8/ &|298 (L) |&mmiL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
3 PO 8/ &|298 (L) |&mm7iL- 10 -20 - 30
il | #[308(R)[&MEL - 5- 10 - 20
4 PR 5/ %|29H(x) [&mEL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
5 PO 8/ &|298 (L) |&mm7iL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
6 PO 8/ &|298 (L) |&MmiL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
7 PO 8/ &|298 (L) |&mm7iL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
8 PO 8/ &|298 (L) |&mm7iL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
9 PO 8/ &|298 (L) |&mm7iL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
10 PO ) 8/ &|298 (L) |&mm7iL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
11 PO ) 8/ &|298 (L) |&mm7iL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
12 PO ) 8/ &|298 (L) |&mmiL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
13 PO ) 8/ &|298 (L) |&mmiL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
14 PO ) 8/ &|298 (L) |&mm7iL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
15 PO ) 8/ &|298 (L) |&mmiL- 10 -20 - 30
il | #[308(R)[&MAEL - 5- 10 - 20
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SI1a—2X (km)

. . O
;/ﬁ%}‘t 29H (X)) |&m%L- 10 1200 23O
o 7‘~L « 5. .
o FIr: 3 | 308 (A) ,bu% 1510120
il — 8B/ %&|29H () |[&m#iL 20 - X
C . 5. .
o 3 | 308 (H) ’J/‘}j]l]ﬁa:b Ty
i — B/ %&|298 (L) |&m7iL- 1 20 - 3
C . 5. .
o 3 | 308 (H) ’J/‘}j]l]ﬁa:b Ty
i — B/ %&|298 (L) |&m7iL- 1 20 - 3
C . 5. .
o 3 | 308 (H) ’J/‘}j]l]ﬁa:b Ty
: — () |ZmiL- 1
19 e smiL - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
: — () |ZmiL- 1
; e =smiL - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
all — B/ %&|298 (L) |&m7iL- 1 20 - 3
C . 5. .
o 3 | 308 (H) ’J/‘}j]l]ﬁa:b Ty
: — () |ZmiL- 1
: e =smiL - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
: — () |ZmiL- 1
: e smiL - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
é\ — () |ZmiL- 1
: e smiL - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
é\ — () |ZmiL- 1
: e smiL - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
é\ — () |ZmiL- 1
; e smiL - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
il — B/ %&|298 (L) |&m7iL- 1 20 - 3
C . 5. .
o 3 | 308 (H) ’J/‘}j]l]ﬁa:b Ty
all — B/ &|298 (L) |&m7iL- 1 20 - 3
C . 5. .
o 3 | 308 (H) ’J/‘}j]l]ﬁa:b Ty
é\ — () |ZmiL- 1
: e skl - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
é\ — () |ZmiL- 1
; e smiL - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
é\ — () |ZmiL- 1
31 e smiL - 5- 10 - 20
T 3 | 308 (H) | l]a: 1020
é\ — () |ZmiL- 1
: e smiL - 5- 10 - 20
o 3 | 308 (H) | l]a: 1020
ull — B/ &|298 (L) |&m7iL- 1 20 - 3
C . 5. .
o 3 | 308 (H) ’J/‘}j]l]ﬁa:b Ty
: — () |ZmiL- 1
: e smiL - 5- 10 - 20
o 3 | 308 (H) | l]a: 1020
: — () |ZmiL- 1
: e smiLl - 5- 10 - 20
o 3 | 308 (H) | l]a: 1020
: — () |ZmiL- 1
; e smiLl - 5- 10 - 20
o 3 | 308 (H) | l]a: 1020
ull — B/ %&|298 (L) |&m7iL- 1 20 - 3
C . 5. .
o 3 | 308 (H) ’J/‘}j]l]ﬁa:b oy
ull — B/ %&|298 (L) |&m7iL- 1 20 - 3
C . 5. .
o 3 | 308 (H) ’J/‘}j]l]ﬁa:b Ty
,b\ = X)) |SmiL- 1
: P e ) |[Zm#iL - 5- 10 - 20
BUENA Y . {29805
40
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SI1a—2X (km)

F#
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
ol - 2|  %[308(8)|[BMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
42 - 2|  %[308(8)|[BMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
43 - 2|  %[308(8)|[BMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
44 - 2|  %[308(8)|[BMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
45 - 2|  %[308(8)|[BMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
46 - %|  %[308(H)|[BMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
47 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
48 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
49 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
50 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
o - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
52 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
53 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
>4 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
5 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
56 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
57 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
58 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
59 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
60 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
o - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
62 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) [&m#iL- 10 -20 - 30
63 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
04 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
AU B/ %| 298 (1) (&m#iL- 10 -20 - 30
65 - %|  %[30B(8)|[ZMEL - 5- 10 - 20
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SI1a—2X (km)
K £ s
8 /%|298(x)|&m4iL- 10 -20 - 30
o 3 308 (A) |Zm#%iL - 5- 10 - 20
66 (R = L 51020
B /%|[29B (%) [&miL- 10 -20
o 3 308 (A) |Zm#%iL - 5- 10 - 20
67 (R = L 51020
B /%|[29B (%) [&miL- 10 -20
o 3 308 (A) |Zm%L - 5- 10 - 20
- - 2] /iﬁ 29H (L) [&m%4L- 10 =20 - 30
o 3 308 (A) |Zm%L - 5- 10 - 20
69 (R = L 51020
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |Zm%L - 5- 10 - 20
70 (R = L 51020
B /%|[29B(x) [&miL- 10 -20 3
BULRA SMEL: 1020
71 g & EFR: X &l308(A) /jjud:b. . 20
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |&m%iL - 5- 10 - 20
12 (R = L 51020
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |&m%iL - 5- 10 - 20
73 (R = L 51020
B/ %|29H(L)|SmigL- 10 -20
o 3 308 (A) |Zm%iL - 5- 10 - 20
74 (R = L 51020
B /%|29B(x) [&miL- 10 -20
o 3 308 (A) |Zm%iL - 5- 10 - 20
75 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%iL - 5- 10 - 20
6 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%iL - 5- 10 - 20
77 (R = L 51020
8 /%298 (1) [&miL- 10 20 - X
S YD SMsL: 10 .
78 5 A e X &[308(A) /jjud:b. 1020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%iL - 5- 10 - 20
79 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%iL - 5- 10 - 20
80 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%iL - 5- 10 - 20
81 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%L - 5- 10 - 20
82 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%L - 5- 10 - 20
83 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%L - 5- 10 - 20
84 (R = L 51020
' 8 /%298 (1) [&miL- 10 3
s | - 5| #[08 (H) [BMAL -5- 10 - 0
' B /%|[29B(x) [&miL- 10 -20 3
O - 5| #[08 (H) [BMAL -5- 10 - 0
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |Zm%L - 5- 10 - 20
87 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |ZmiL - 5- 10 - 20
88 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%L - 5- 10 - 20
89 (R = L 51020
Z|(29H (L) |&Sm%iL- 10
o > (B) |&miL - 5- 10 - 20
90 X X &l 308 >
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S K 4 S ZMNa—X (km)
Pays N7
91 ¢ . B/%|29B8 (L) |&miElL- 10 -20 - 30
% i = #%|30H (H) |$7%EL - 5- 10 - 20
92 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
93 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% i = #%|30H (H) |$7%EL - 5- 10 - 20
94 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% i = #%|30H (H) |$7%EL - 5- 10 - 20
95 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
96 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
97 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% - = #%|30H (H) [$m7%gL - 5- 10 - 20
98 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% - = #%|30H (H) [$m7%gL - 5- 10 - 20
99 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% - = #%|30H (H) [$7%gL - 5- 10 - 20
100 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
101 . B/%|29B8(X)|&miEL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
102 . B/%|29B8(X)|&miEL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
103 . B/%|29B8(X)|&miEL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
104 . B/%|29B8(X)|&miEL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
105 . B/%|29B8(X)|&miEL- 10 -20 - 30
% i = #%|30H (H) |$7%L - 5- 10 - 20
106 . B/%|29B8(X)|&miEL- 10 -20 - 30
% i = #%|30H (H) |$7%L - 5- 10 - 20
107 . B/%|29B8(X)|&miEL- 10 -20 - 30
% i = #%|30H (H) |$7%L - 5- 10 - 20
108 . B/%|29B8(X)|&miEL- 10 -20 - 30
% i = #%|30H (H) |$7%EL - 5- 10 - 20
109 . B/%|29B8(X)|&miEL- 10 -20 - 30
% - = Z%|30H(H) |&miL - 5- 10 - 20
110 . B/%|29B8 (L) |&miEL- 10 -20 - 30
% i = #%|30H (H) |$7%EL - 5- 10 - 20
111 . B/%|29B8 (L) |&miEL- 10 -20 - 30
% i = #%|30H (H) |$7%EL - 5- 10 - 20
119 . B/%|29B8 (L) |&miEL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
113 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
114 . B/%|29B8 (L) |&miElL- 10 -20 - 30
% - = #%|30H (H) [l - 5- 10 - 20
115 . B/%|29B8 (L) |&miEL- 10 -20 - 30
- = Z%| 30H(H) |&miL - 5- 10 - 20




47l

K & g ZM3a—2A (km)
1o OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
- OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
18 OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
19 UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
20 UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
" UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
9 UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
13 UL ] B/%|29B (L) |&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
4 UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
- OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
126 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
TR 3 | 308 (A) |&m#iL - 5- 10 - 20
. OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
128 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
129 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
30 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
TR 3 | 308 (A) |&m#iL - 5- 10 - 20
3 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
132 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
133 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
134 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
TR 3 | 308 (A) |&m#iL - 5- 10 - 20
. OB ] B/%|29B8 (L) |&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
136 OB ] B/%|29B8 (L) |&miEL- 10 -20 - 30
{EFR: 3 Z%| 30H(H) |&miL - 5- 10 - 20
137 OB ] B/%|29B8 (L) |&miEL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
138 OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%| 30H(H) |&miL - 5- 10 - 20
139 OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%| 30H(H) |&miL - 5- 10 - 20
10 OB ] B/%|29B8 (L) |&miEL- 10 -20 - 30
{EFR: 3 Z%| 30H(H) |&miL - 5- 10 - 20




47l

SI1a—2X (km)
K % P
5/ %|29H (L) |&M%AL- 10 -20 - 30
o 308 (A) |ZmiL - 5- 10 - 20
141 T ={ R BIEL 51020
B /%|[29B(x) (&miL- 10 -20 3
S YD SMEL: 1020
142 S R X =308 (1) /jjud:b. . 20
B /%|[29B(x) (&miL- 10 -20 3
e ZntEL - 5- 10 -
143 SUBE XFR: X &[308(A) /jjud:b. . 20
B /%|[29B (%) [&miL- 10 -20
o 3 308 (A) |ZmiL - 5- 10 - 20
144 (R = L5 1020
B /%|[29B (%) [&miL- 10 -20 3
e ZntEL - 5- 10 -
145 SUBE XFR: X &[308(A) /jjud:b. . 20
B /%|[29B(x) (&miL- 10 -20
o 3 308 (A) |Zm%L - 5- 10 - 20
146 (R = L5 1020
B /%|[29B (%) [&miL- 10 -20
o 3 308 (A) |Zm%L - 5- 10 - 20
147 (R = L5 1020
B /%|[29B (%) [&miL- 10 -20
o 3 308 (RA) |Zm%iL - 5- 10 - 20
148 (R = L5 1020
B /%|[29B (%) [&miL- 10 -20 3
e il - 5- 10 -
a9 1ERT: 3 &[308(A) /jjud:b. 1020
B /%|[29B (%) [&miL- 10 -20 3
UL SMEL: 1020
] {EA X =308 (A) /jjud:b. 1020
B /%|[29B(x) [&miL- 10 -20 3
e ZiEL - 5- 10 -
51777 {ERR X =308 (A) /jjud:b. 1020
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |Zm%iL - 5- 10 - 20
192 - = L5 1020
B /%|[29B(x) [&miL- 10 -20 3
e ZiEL - 5- 10 -
153777 {EA X =308 (A) /jjud:b. 1020
B /%|[29B(x) [&miL- 10 -20 3
S YD SMEL: 1020
154 S DV EATE X =308 (A) /jjud:b. . 20
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |Zm%L - 5- 10 - 20
199 - = L5 1020
B /%|[29B(x) [&miL- 10 -20 3
S YD SMEL: 1020
156 S DV EATE X =308 (A) /jjud:b. . 20
B /%|[29B(x) [&miL- 10 -20 3
e ZntL - 5- 10 -
15717777 {EA X =308 (A) /jjud:b. 1020
B /%|[29B(x) [&miL- 10 -20 3
S YD SMEL: 1020
1587 {EA X =308 (A) /jjud:b. 1020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%L - 5- 10 - 20
159 (R = L5 1020
8 /%298 (1) [&miL- 10 20 X
S YD SasL: 10 .
wol” 7" {EA X =308 (A) /jjud:b. 1020
8 /%298 (1) [&miL- 10
o 3 308 (A) |ZmiL - 5- 10 - 20
161 (R = L5 1020
8 /%298 (1) [&miL- 10 20 X
S YD SHL: 10 .
w6277 {EA X =308 (A) /jjud:b. 1020
8 /%298 (1) [&miL- 10 20 X
o SmnikL - 5- .
w63l” 0" {EA X =308 (A) /jjud:b. 1020
8 /%298 (1) [&miL- 10 20 X
S YD SMsL: 10 .
64l {EA X =308 (A) /jjud:b. 1020
8 /%298 (1) [&miL- 10 20 X
> " = N .5. .
tos|” - x| =[308(R)|BMAEL
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K & g ZM3a—2A (km)
o6 OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
o7 OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
o8 OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
o9 UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
0 UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
. UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
172 UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
3 UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
T UL ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
- OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
- OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
TR 3 | 308 (A) |&m#iL - 5- 10 - 20
177 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
s OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
9 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
50 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
TR 3 | 308 (A) |&m#iL - 5- 10 - 20
" OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
2 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
53 OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
" OB ] B/%|29B8(X)|&miEL- 10 -20 - 30
TR 3 | 308 (A) |&m#iL - 5- 10 - 20
a5 OB ] B/%|29B8 (L) |&miEL- 10 -20 - 30
{EFR: 3 Z%|30H(H) |&miL - 5- 10 - 20
56 OB ] B/%|29B8 (L) |&miEL- 10 -20 - 30
{EFR: 3 Z%| 30H(H) |&miL - 5- 10 - 20
57 OB ] B/%|29B8 (L) |&miEL- 10 -20 - 30
{ERR =3 #%|30H(H) |&m#iL - 5- 10 - 20
58 OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%| 30H(H) |&miL - 5- 10 - 20
59 OB ] B/%|29B8 (L) |&miElL- 10 -20 - 30
{EFR: 3 Z%| 30H(H) |&miL - 5- 10 - 20
190 OB ] B/%|29B8 (L) |&miEL- 10 -20 - 30
{EFR: 3 Z%| 30H(H) |&miL - 5- 10 - 20
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SI1a—2X (km)
K £ s
8 /%|298(x)|&m4iL- 10 -20 - 30
o X 308 (A) |Zm#%iL - 5- 10 - 20
hd - - %/iﬁ 29H (L) [&m%4L- 10 =20 - 30
e il - 5- 10 - 20
192 S DV EITE X =308 (A) /jjud:b. . 20
B /%|[29B (%) [&miL- 10 -20 3
e il - 5- 10 -
193 SV EITE X =308 (A) /jjud:b. . 20
B /%|[29B (%) [&miL- 10 -20
o 3 308 (A) |Zm%L - 5- 10 - 20
194 (R = L 51020
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |ZmiL - 5- 10 - 20
195 (R = L5 1020
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |Zm%iL - 5- 10 - 20
196 - = L 51020
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |&m%iL - 5- 10 - 20
197 (R = L 51020
B /%|[29B(x) [&miL- 10 -20
o 3 308 (A) |&m%iL - 5- 10 - 20
198 - = L 51020
B /%|[29B (%) [&miL- 10 -20 >
e il - 5- 10 -
199 SV EATE X =308 (A) /jjud:b. . 20
B /%|29B(x) [&miL- 10 -20 3
UL SMEL: 1020
200 S DV EATE X =308 (A) /jjud:b. . 20
B /%|29B (%) [&miL- 10 - 20
o 3 308 (A) |Zm%iL - 5- 10 - 20
201 (R = L 51020
B /%|29B (%) [&miL- 10 - 20 3
BULRA SMEL: 1020
202”7 {EA X =308 (A) /jjud:b. 1020
B /%|29B (%) [&miL- 10 - 20 3
e il - 5- 10 -
203”7 {EA X =308 (A) /jjud:b. 1020
B /%|29B (%) [&miL- 10 -20
o R 3 Z| 308 (8) |&Mm#iL - 5- 10 - 20
i - 8 /;Ti 29H (%) |&m%iL- 10 =20 - 30
o R 3 Z| 308 (8) |&Mm#iL - 5- 10 - 20
= - 8 /;Ti 29H (%) |&m%iL- 10 =20 - 30
o R 3 Z| 308 (8) |BMm#iL - 5- 10 - 20
= - 8 /;Ti 29H (%) |&m%iL- 10 =20 - 30
e ZtL - 5- 10 - 20
207 S DV EATE X =308 (A) /jjud:b. . 20
B /%|[29B (%) [&miL- 10 -20
o 3 308 (A) |Zm%L - 5- 10 - 20
208 (R = L 51020
8 /%298 (1) [&miL- 10 20 X
o Skl - 5- .
209|” " " {EA X =308 (A) /jjud:b. 1020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%L - 5- 10 - 20
210 (R = L 51020
8 /%298 (1) [&miL- 10
o 3 308 (A) |Zm%L - 5- 10 - 20
211 (R = L 51020
8 /%298 (1) [&miL- 10 20 X
S YD SasL: 10 .
o127 FERR - X =308 (A) /jjud:b. 10-20
8 /%298 (1) [&miL- 10 20 - X
o AL - 5- .
T 1ERT: 3 #&[308(A) /jjud:b. 1020
8 /%298 (1) [&miL- 10 20 X
S YD SMsL: 10 .
o1a|” " FERR - X =308 (A) /jjud:b. 1020
8 /%298 (1) [&miL- 10 20 - X
> " = N . 5. .
215" - x| =[308(R)|BMWEL




